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Q.No.1. Choose the correct option. (10)
1. "I'll go by car so that I can take more luggage." The underlined part of

sentence is:

(a) transitional device (b) interjection

(©) preposition (d) adjective

2. What consequences are we facing due to overpopulation?

|(a)| lack of water |(b)| lack of land |(c)| lack of food |(d)| all of these |
3. Choose the correct spelling.

|(a)| dilema |(b)| delemma |(c)| dilemma |(d)| dilamma |
4. The antonym of "accomplished" is:

|(a)| completed |(b)| finished |(c)| input |(d)| grined |

5. The "a.m" is an abbreviation of:

|(a)| anti-virus |(b)| anti-religion |(c)| anti-marriage |(d)| ante meridian |

6. ___are used to indicate that something belogs to something or
someone else.

|(a)| commas |(b)| semi-colons |(c)| apsotrophes |(d)| colons |

7. are words that have the opposite meanings.

|(a)| antonyms |(b)| homophones |(c)| synonyms |(d)| homographs |

8. My house is the park. Fill in with correct preposition.

| (a) | near |(b)| under | (c) | beneath |(d)| upon |

9. The synonym of "toxic" is:

|(a)| grouped |(b)| problem |(c)| poisonous |(d)| uncontrolled |

10.I will go to France __ I can learn French. Fill in with correct
transitional device.
|(a)| wherever |(b)| where |(c)| in order to |(d)| so that |

Q.No.2. Punctuate the following sentences: ?2)

e ahmads car engine is so fit

e these are girls dresses

Q.No.3. Answer these questions. ()
*  What role can we play to avoid overpopulation?
*  What is the best way to reduce poverty?
Q.No.4. Use the following adverbial phrases in your sentences. (@)
Phrases Sentences
in an easy way
like an expert
down the road
by hook or by crook
Q.No.5. Write an essay on the topic of "My Exams". Q)




